Anmartsl (7273)495-231
Anrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropogp (4722)40-23-64
BnaroBelueHck (4162)22-76-07
BpsHck (4832)59-03-52
BnapguBocTok (423)249-28-31
BnapukaBka3 (8672)28-90-48
Bnagumup (4922)49-43-18
Bonrorpap (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHGypr (343)384-55-89

MBaHoBoO (4932)77-34-06
WxeBck (3412)26-03-58
WpkyTck (395)279-98-46
Ka3saHb (843)206-01-48
Kanunuhrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KonomHa (4966)23-41-49
KocTpoma (4942)77-07-48
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
KypraH (3522)50-90-47
Juneuk (4742)52-20-81

Poccua +7(495)268-04-70

KasaxcraH +7(7172)727-132

MarnuToropck (3519)55-03-13
Mockea (495)268-04-70

Mypmanck (8152)59-64-93
HaGepexHblie YenHsbl (8552)20-53-41
HwxHuii Hoeropogp (831)429-08-12
HoBoky3Heuk (3843)20-46-81
Hos6pbck (3496)41-32-12
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeH6ypr (3532)37-68-04

MeH3a (8412)22-31-16
MeTpo3aBoack (8142)55-98-37
MNckoB (8112)59-10-37

Mepmb (342)205-81-47

PocTtoB-Ha-[loHy (863)308-18-15
PsasaHb (4912)46-61-64

Camapa (846)206-03-16
CaHkT-MNeTep6ypr (812)309-46-40
CaparoB (845)249-38-78
CeacTononsb (8692)22-31-93
CapaHck (8342)22-96-24
Cumdpeponons (3652)67-13-56
CmoneHck (4812)29-41-54

Counm (862)225-72-31
CraBpononb (8652)20-65-13
CypryT (3462)77-98-35
ChbikTbIBKap (8212)25-95-17
TamboB (4752)50-40-97

TBepb (4822)63-31-35

Kuprusua +996(312)96-26-47

https://adca.nt-rt.ru/ || acd@nt-rt.ru

TonbsTTH (8482)63-91-07
Tomck (3822)98-41-53
Tyna (4872)33-79-87
TromeHb (3452)66-21-18
YnbsaHoBck (8422)24-23-59
Ynan-Ypa (3012)59-97-51
Ydba (347)229-48-12
XabapoBck (4212)92-98-04
YebBokcapbl (8352)28-53-07
YenabuHck (351)202-03-61
Yepenosel (8202)49-02-64
Yura (3022)38-34-83
SAkyTek (4112)23-90-97
ApocnaBnb (4852)69-52-93

VALSTEAM ™
AdoCd

THREE PIECE BALL VALVES M3i



https://adca.nt-rt.ru
mailto:acd@nt-rt.ru

‘7, CERTIFIED
: .
(o] I

= )
o

fry

d0Cd

DESCRIPTION

THREE PIECE BALL VALVES

M3i1

The M3i1 three piece ball valves are full bore isolating valves designed
for on/off applications with steam, condensate and other gases and
liquids compatible with the construction.

MAIN FEATURES

Full bore floating ball design.
Can be serviced without removal from pipeline.

Bidirectional.

Blow-out proof stem design.

Antistatic device.

ISO 5211 mounting.

OPTIONS:

USE:

AVAILABLE
MODELS:

SIZES:

CONNECTIONS:

INSTALLATION:

Different sealing materials.

Steam, gases and liquids compatible with the
construction.

M3i1 — stainless steel.
3/8” to 2”.

Female threaded ISO 7 Rp or NPT.
Socket weld (SW) ASME B16.11.

See IMI -
instructions.

Installation and maintenance

BODY LIMITING CONDITIONS

Pressure

(barg) | |

100 3/8” to 3/4”

N\
80
17 to 2" \
60
AN
N
40 \\
CE MARKING — GROUP 2 (PED - European Directive) 20 \\
N,
PN 100 Category
Temp.
3/8” to 11/4” SEP -29 0 50 100 150 200 250 (oc)
11/2" to 2 1 (CE marked) i PTFE/GR




e
C
M O CF8M-HTB O
deants . )
=] H ] y
=== AN (@)
H R\ ) N\ /
A B
DIMENSIONS (mm)
SIZE A B Cc D E F G H 5'2% WE(:((;;-'T
3/8” 68 42 65 21 149 M10 x 1 1 FO3 0,73
1/2” 76 50 69 25 149 M10 x 1 15 FO3 1,1
3/14” 100 62 87 31 176 75 M12 x 1,25 20 Fo4 2,18
1” 118 72 92 36 176 7,5 M12 x 1,25 25 F04 3,12
11/4” 130 85 114 42,5 207 1 M16 x 1,5 32 F05 4,66
11/2” 146 95 119 47,5 207 1 M16 x 1,5 38 FO5 6,35
2”7 154 105 124 52,5 232 1 M16 x 1,5 50 FO5 71
MATERIALS |
PS? DESIGNATION MATERIAL
1 Body A35 CF3M / 1.4409 =
2 Body cap A351 CF8M / 1.4408
3 Stem AISI 316 / 1.4401
4 Stem o-ring Viton
5 Ball AISI 316 / 1.4401
6 * Seat PTFE/GR
7 * Body gasket PTFE
8 * Stem gasket PTFE/GR
9 * Stem seal PTFE/GR
10 Spacer AISI 316 / 1.4401
11 Handle AISI 304 / 1.4301
12 * Spring washers AISI 304 / 1.4301
13 Compression nut AISI 304 / 1.4301
14 * Lock washer AISI 304 / 1.4301
15 Fixing bolts AISI 304 / 1.4301
16 Nuts AISI 304 / 1.4301

* Available spare parts




THREE PIECE BALL VALVES
M3i5

DESCRIPTION

The M3i5 three piece ball valves are reduced bore isolating valves
designed for on/off applications with steam, condensate and other
gases and liquids compatible with the construction.

MAIN FEATURES

Reduced bore floating ball design.

Can be serviced without removal from pipeline.
Bidirectional.

Blow-out proof stem design.

Antistatic device.

OPTIONS: Different sealing materials.

USE: Steam, gases and liquids compatible with the
construction.

AVAILABLE

MODELS: M3i5 — stainless steel.

SIZES: 1/2" to 2.

CONNECTIONS: Female threaded ISO 7 Rp or NPT.
Socket weld (SW) ASME B16.11.

INSTALLATION: See IMlI - |Installation and maintenance
instructions.
BODY LIMITING CONDITIONS
Pressure
(barg) ’ ‘
I [
100 1/2” to 1 ~
80
11/4” to 2’ \
60
\
N
40 \\
CE MARKING - GROUP 2 (PED - European Directive) 20 \\
N,
PN 100 Category
0 Temp.
1/2" to 11/4” SEP -29 0 50 100 150 200 230 (oc)
1/2" to 2" 1 (CE marked) Emm—— PTFE/GR




C
-
) \FWE@@’E—T
. | ADE | H
e )
—g
DIMENSIONS (mm) |
SIZE A B C D E H Ll
(kg)
1/2” 68 42 74 21 143 1 0,61
3/14” 76 50 74 25 143 15 0,87
1”7 100 62 86 31 175 20 1,81
11/4” 118 72 91 36 175 25 2,54
11/2” 130 85 115 42,5 203 32 3,95
2” 146 95 119 47,5 203 38 5,05
MATERIALS
ng ’ DESIGNATION MATERIAL .
1 Body A351 CF8/1.4308
2 Body cap A351 CF8M / 1.4408
3 Stem AISI 316 / 1.4401
4 Stem o-ring Viton
5 Ball AISI 316 / 1.4404
6 * Seat PTFE/GR
7 * Body gasket PTFE
8 * Stem gasket PTFE/GR ;
9 * Stem seal PTFE/GR " (2)
10 Spacer AISI 316 / 1.4404 L’@
11 Handle AISI 304 / 1.4301
12 * Spring washers AISI 304 / 1.4301
13 Compression nut AISI 304 / 1.4301
14 * Lockwasher AISI 304 / 1.4301
15 Fixing bolts AISI 304 / 1.4301
16 Nuts AISI 304 / 1.4301

* Available spare parts



Anmartbl (7273)495-231
Axrapck (3955)60-70-56
ApxaHrenbck (8182)63-90-72
AcTtpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop, (4722)40-23-64
BnaroBelyeHck (4162)22-76-07
BpsiHck (4832)59-03-52
BnaauBocTok (423)249-28-31
BnapaukaBka3 (8672)28-90-48
Bnapumup (4922)49-43-18
Bonrorpap (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
ExaTepuH6ypr (343)384-55-89

WBaHoBo (4932)77-34-06
WxeBck (3412)26-03-58
WpkyTck (395)279-98-46
Ka3saHb (843)206-01-48
Kanununrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KonomHa (4966)23-41-49
KocTpoma (4942)77-07-48
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
KypraH (3522)50-90-47
INuneuk (4742)52-20-81

Poccus +7(495)268-04-70

KasaxcraH +7(7172)727-132

MarnuToropck (3519)55-03-13
MockBa (495)268-04-70

MypmaHck (8152)59-64-93
HaGepexHble YenHbl (8552)20-53-41
HwxHuii Hosropogp (831)429-08-12
HoBoky3HeLk (3843)20-46-81
Hosbpbck (3496)41-32-12
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHb6ypr (3532)37-68-04

MeH3a (8412)22-31-16
MeTpo3aBoack (8142)55-98-37
Mckos (8112)59-10-37

Mepmb (342)205-81-47

PocTtoB-Ha-[loHy (863)308-18-15
PsasaHb (4912)46-61-64

Camapa (846)206-03-16
CaHkT-NeTtepbypr (812)309-46-40
CapatoB (845)249-38-78
CeBacTononsb (8692)22-31-93
CapaHck (8342)22-96-24
Cumdpeponons (3652)67-13-56
CMoneHck (4812)29-41-54

Coum (862)225-72-31
CraBponons (8652)20-65-13
CypryT (3462)77-98-35
ChbIkTbIBKap (8212)25-95-17
Tam6oB (4752)50-40-97

TBepb (4822)63-31-35

Kupriaus +996(312)96-26-47

https://adca.nt-rt.ru/ || acd@nt-rt.ru

TonbaTtTy (8482)63-91-07
Tomck (3822)98-41-53
Tyna (4872)33-79-87
TioMeHb (3452)66-21-18
YnbsaHoBck (8422)24-23-59
Ynan-Yps (3012)59-97-51
Ydpa (347)229-48-12
XabapoBck (4212)92-98-04
Yeb6okcapbl (8352)28-53-07
YenabuHck (351)202-03-61
Yepenosew (8202)49-02-64
Yura (3022)38-34-83
SAkyTtek (4112)23-90-97
SlpocnaBnk (4852)69-52-93


mailto:acd@nt-rt.ru
https://adca.nt-rt.ru

	P20P.pdf
	BKVi2.pdf
	VPC26.pdf
	BM24-32_DN15-25_ADCA.pdf
	Страницы из Asteama_Katalog_1-58.pdf
	Страницы из Asteama_Katalog_1-59.pdf

	BM35_BM45_BM80_ADCA.pdf
	Страницы из Asteama_Katalog_1-60.pdf
	Страницы из Asteama_Katalog_1-61.pdf
	Страницы из Asteama_Katalog_1-62.pdf

	BM140_ADCA.pdf
	Страницы из Asteama_Katalog_1-63.pdf
	Страницы из Asteama_Katalog_1-64.pdf

	FLT16 Float and thermostatic steam traps DN15-20.pdf
	Пустая страница




	5.131.E.HCC-Hot Condensate Cooler.pdf
	_GoBack

	4-29c-e-ae35-2-automatic-air-and-gas-vents-for-liquids-dn-25.pdf
	_GoBack

	4-30b-e-ae41-2-automatic-air-and-gas-vents-for-liquids-dn-25.pdf
	_GoBack

	4-30c-e-ae45-2-automatic-air-and-gas-vents-for-liquids-dn-25.pdf
	_GoBack




